MR R P

:
¢

TP — 2w

ik

EREIES IFY

%m?é”mﬁﬁ

VI
IE: :g’ * ﬂg SR

F3 R 100 &Ji Fiag i
YEsEHE e T (R (58102110702 R ¢ Stk s | SEET4 48
e AT e R I e R 508275
| TR 1%ﬁwmﬂﬂiﬁﬁbéﬁ?ﬂ/’%E?éi“j (&
e 2,51 2 Rl B TR e R O9BL-04.01-20-06) -
7 3.BER ;I*Jffﬂﬂsrﬁf%g %U% v'% - Q9B T-04.01-26-07)
R TS S -
]
IR e Bkl 11§ R wil]
ah 5,082,000 1 #(4,904,0007% » I S]]
178,0007
0100 * gyl 10,0004 %J4]110,000 7
0131 IpZ=fifi ' 10,000
= 1 10,000 10,000 BEE! 7 = Bl rﬁ Frre ﬁfu
%Ifﬁ o ﬁ%,ﬁffg l‘“
T o =l ﬁ{&j
%jm (MBS TREE S
gﬁ 799.4. 1202457
09900401 765%Ff)
0200 % 757 5,072,000 1 #4,904,0007% » 5 S5
168,0007+
0251 & &4 2,500,000
5 1 2,500,000 2,500,000| S TR A S s (i R 0 2 e
B M‘lbaﬁf}ﬂ VA g
%@Aﬁwo
0271 ¥4l 2,168,000
= 1 2,000,000 2,000,000 F" ~ Fif ~ FrpE B
B~ RS~ YA~ B
ACTF = PR~ k] - 36
fifr }‘F’]vk I~ gbﬁfﬁiﬁ%ﬁ
1~ B fozt i
hapg | ffE‘ R rTREE
7_Z:FI :PJFF#
& 1 168,000 163,000 %’E@ g quyfm%b Wﬁﬂ
e A wm%& 1;
#\%‘ﬂ;‘ %E*J:PJ
(B Sl m%ﬁﬁ)(ﬂ"*
@gemﬁ&ﬁ%ﬁ §99630
B 5709900414 109KFF)
211-22

MR NP

B
%

WS — 1w

I

2k



B R YRR

B
%4

O — N s )

ke
?

i3t

SIS iF ok S v

FRP AR LAG P

PEAR 100 & & B Rrd
0279 — 415y 90,000
IR e Pl T FHRTEC W]
= 20 2,000 40,000 (B Es ot i 2, /g *
AR T ER
S 1 50,000 50,000 ;ﬁrré%ig AR PRIEI > S
POEFEL .
0283 4 By ff e 314,000
= 1 270,000 270,000(FrPPr /™~ S {5EqY -
i 1 44,000 44,000(Frs l FAfI = R i A

211-23

g\[ N F[Ii@ N f;‘%k'/,-@%‘@'/ °

S

MR NP

B
%

R P — 1w



S A iF i AV
i S R Ltk
PERRE 100 # A oo prd A

211-24



